CRITERIA IV

4.4.2: There are established systems and procedures for maintaining and utilizing physical, academic and support facilities - laboratory, library, sports complex, computers, classrooms etc



INVOICE

Bill to, QSPL-AUR-671 Azad Mahavidyalaya 6GM3+WP3, Ujani Mod, Maharashtra 413520 Qualsoft Systems Pvt. Ltd.

Head Office: Illrd Floor, Karnal Mansion, Near Radio Club, Aurthur Bundar Road, Colaba Mumbai-400005 Development Centre: Ilnd Floor, Tech Park, Kat Kat Gate Road, Aurangabad-431001

GST No.

: 27AAACQZ117P2Z9

PAN No. Phone No. Email ID

: AAACQ2117P : 9921944750

: accounts@qualsofttech.com

Details

Invoice No.

: QSPL/2021/INV/PI/0993

Issue Date

: 02-08-2021

Payment Terms Customer ID

: Due Immediately : QSPL-AUR-671

GST No.

. .

Product	Description	Tax (%)	Period	Rate	Quantity	Amount
eLibrary	Annual Maintenance Charges for eLibrary Desktop ERP For the period August 2021 to August 2022	0	365	INR 3,000.00	1.00	INR 3,000.00

Total Amount in INR	INR 3,000.00
Total Tax CGST+SGST	0.00
 Goods & Services tax C-9 %	0.00
Goods & Services tax S-9 %	0.00
Total in INR	3000.00

Rs.Three Thousand only

Bank Details Qualsoft Systems Pvt. Ltd.

Bank Name

: HDFC

Branch

: Nirala Bazaar

IFSC Code

: HDFC0000826

MICR Code

: HDFCINBBPNE

Account No.

: 08262020002618

Branch Code

: 000826

Notes:

 Undertake no responsibility of breakage, shortage in transit isnpite of our paying careful attention to the dispatch.

2. Goods once sold will not be taken back,

24% per month interest will be charged if the payment is not paid within due date.

4. This transaction is made on specific understanding that payment will be made within 24 hours of delivery.

5. Suffice to Mumbai & Accessible Installation and the payment will be made within 24 hours of delivery.

Subject to Mumbai & Aurangabad Jurisdiction only.

6. Warranty is the liability of the manufacturer/service provider.

7. Bounce cheque penalty will be Rs. 1000.00/-

For Qualsoft Systems Pvt. Ltd.

Authorised Signatory

Declaration:

I/We hereby Certify that my/our registration certificate under goods & service tax act is in force on the date on the which the sales of goods specified in this "PRODUCT INVOICE".

COMPUTERS

Opp. S.P. Office, Near Mahebubiya Masjid, Aziz Palace, Ambajogai Road, Latur. Mob. 9028506888

Ref.

Date: 26/12/2019

Invoice

To,

Azad College, Ausa

Sr.No.	Name of Item	Qty.	Rate	Amount
1.	Dell Optiplex 3060	6	31000/-	186000/-
2.	Dell Optiplex 5060	4	46000/-	184000/-
3.	Installation with All Software	10	700/-	7000/-
4.	Antivirus with one year subscri.	10	500/-	5000/-
5.	Windows 10 Professional	1	12000/-	12000/-
6.	1TB External HDD	1	4550/-	4550/-
			Total	398550/-

Paid: 398550/-

For : Universal Computer

मो. 9975721264 TETHINATE पटेल प्लायवुड & हार्डवेअर आमच्याकडे सर्व प्रकारचे प्लायवुड, फोरमाईक, लिपींग पट्टी, मोलडी पट्टी, डोअर बिंडो फिटींग, फॅन्सी फर्निचर फिटींग्ज व इतर वस्तु योग्य दरात मिळतील. उरमानाबाद जनता बँक शेजारी, मेन रोड, औसा नं दिनांक:28 81 20% नाव ह तपशील नग दर रक्कम 18X28 200 एकदा विकलेला माल परत घेवला जाणार नाही 560 एकूण

सफा,औसा

C/B-49

प्रो.युसुफपटेल

8855088993



पटेल फायबर डोअर

सिद्दीकी वाळु सप्लायर शेजारी, लातूर रोड औसा

517

दिनांक: 01 / 09 /2020

नं.

श्री

याचार आसाद महाविकारूय, जीना

ж.к	तपशील	नग	दर	स्मये	
+	4012195				
\dashv	18 mm 4X3	0)		720	a
	12 mm 4x4	01		800	200
+	क्लारमार्क ४४६	01		500	200
-	केवीकार	02	150	300	- 00
\neg	-017 2×3	02	720	1448	- 00
\neg	51329m			800	- W
1	मन्द्रश			1000	200
			प्रतियाः जिल्ला	5560	200
\dashv			250		

आपण घेतलेले माल व्यवस्थित चेक करून घेणे.

ग्राहकाची सही

प्रा.प्रा.सही

		TP.	मनना विकलेला साल परंत होतला जाणार गांधी
			2124127
368			
\	1		
10	5	7	1 15 S
61	61	~	<u>5</u> 1
		,	an \
18	30	9102	100
051	05	2	Carrol
ctr	15	8	7127
			100
240	es	9	Sim
135	15	97	Am anco
रक्कम	쥓	相	तपशील
120	दिनांकस्//9/10	दिन	उत्तानावाच जनता वका राजाराः । दिनांकाम् 19 /
ी, मोल्डी पट्टी, य बसत मिळतील	त्वर्यांग पर स्वर्यांग पर	िरमाईक, विज्ञ व इर	प्रटेल प्लायंड, फोरमाईक, लिपीन पट्टी, मोलंडी पट्टी आमन्यांकडे सर्व प्रकारचे प्लायंड, फोरमाईक, लिपीन पट्टी, मोलंडी पट्टी आमन्यांकडे सर्व प्रकारचे प्लायंड्ड, फोरमाईक, लिपीन पट्टी, मोलंडी पट्टी आमन्यांकडे सर्व प्रकारचे प्लायंड्ड, फोरमाईक, लिपीन पट्टी, मोलंडी पट्टी आमन्यांकडे सर्व प्रकारचे प्लायंड्ड, फोरमाईक, लिपीन पट्टी, मोलंडी पट्टी आमन्यांकडे सर्व प्रकारचे प्लायंड्ड, फोरमाईक, लिपीन पट्टी, मोलंडी पट्टी आमन्दी प्रकारचे प्लायंड्ड, फोरमाईक, लिपीन पट्टी, मोलंडी पट्टी आमन्दी पट्टी पटटी पट